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2y 0.64% (-2.4bp)

10y 1.50% (-4.1bp)
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30y 225% (-4.2bp)

[7|E} 10YZE]

¥z 0.64% (-16.0bp)
=9 -0.10% (-5.9bp)
m=2A  013% (-6.1bp)

o|Etz|op  1.14% (-7.3bp)

A 2 1.02% (-6.5bp)

dg|a 8.14% (-1.1bp)
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DOW30 18352.05 (-0.02%)

NASDAQ 5166.25 (+0.13%)
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S&P500 2164.25 (+0.02%)

NIKKEI225  16254.89 (+1.07%)

SHANGHAI 298243 (+0.13%)

FTSE100 6740.16 (+1.59%)
DAX30 10227.86 (+0.57%)
CAC40 434563 (+0.57%)
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SE2/28 11127 (-0.0021)

FE2/4 112.65 (-0.22)

E=Ad 101.18 (-0.05)

2E{/212t  6.6444 (+0.0249)

o2E/g8!  1.31019 (-0.02223)
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WTI 41.93 (+2.70%)

COMEXE@ 1367.30 (+0.20%)

T[A1l 2000.03 (+0.26%)

TAE 701.67 (+0.48%)
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3y 1.238%  (-0.9bp)
Sy 1.266%  (-0.9bp)

10y  1413% (-1.2bp)

cD 1.360%  (Obp)
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3y -2.6bp (-0.1bp)
Sy -3.9bp (-0.1bp)

10y  -133bp (+0.2bp)

8. IRS/CRS &%k IRS 2E|l= 2
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M=8s B, aMd=s 24 Heof ot HH

0.25-1.0bpQ| s}2A=S ol

*IRS 22|

1Y 1.2525% (-0.75bp)
2Y 12125% (-1.00bp)
3y  12175%  (-0.50bp)
5Y  1.2300% (-0.75bp)
7Y 1.2375%  (-1.00bp)

10Y 1.2825% (-0.75bp)

12Y  -400 (-0.25bp)
2*3Y 050 (+0.50bp)
2*5Y 175  (+0.25bp)

3*5Y 125 (-0.25bp)
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5¥7Y 075  (-0.25bp)
5*10Y 525  (Obp)
*CRS 22|

1Y 1.1900% (+1.0bp)
2Y 1.0550% (+1.0bp)
3y 0.0050% (+1.0bp)
5Y  0.9450%  (Obp)

7Y 0.9250%  (+0.5bp)
10Y 0.9150%  (+0.5bp)
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0|=2-79 H=918 (0|M:287K, O|AH180K)
6% DOIAX| (0|M:-41.10B, OAH-43.10B)

18 HYE (017TH:4.9%, 0f&:4.8%)

78 AZHSEZ LB MoM) (0]H:0.1%, 041:0.2%)
S9-62 BHFE(MoM) (0|F:0.0%, 0|4+:0.6%)




